DUNCAN MODEL EA 1029-8J f

egB¥

,Prﬂpvrvprﬁa
L

G33IABINBABEA

EBBRIHERRE

§g

REBEEEHA
SRBRREERSKENE

SR

-
X

8

o
-

ROBOCOBBBRARTAA

BERr o BYRNRRRPNEN,
§BES

w
<

h

REPS
BEK

8
g

RREAPCBESKB LR ZBBRNEELDR2BEE

12gBES

~
FalEa &

BODY PARTS

DESCRIPTION
#8-32 x W/4° Machine Screw
Fiber Lid wBand
Collar Case wllamnpa
Case wClamps
Fiber Bottorn
Cans Clamp
Base Pase
Sand wFeet
Sland Fest
820, 1620/29 Heat Shieid
Collar Meat Shieid
1028 Comtroi Pane! Sheil
EA Pt Light
Hinge Pwot Kt
10X0/29 Heanth Plate (EA only)
Pai Nt
Swazh Knob, Whits hx‘{:>
1GireShter wSatety Timer .
1020/29 Power Supply Cord .
1020729 Cord Strain Relie!
#8 x 1* Sheet Meta! Screw
#8 x 1/2° Sheet Metal Screw
Pesphole Plug
Handie

1029729 Ud Chain
Lid Chain Mourting Plate Kit

4800 Repeat Cycle Timer

#8632 x 1 1/4° Machwne Screw
14° Connecting Wirs, 12 Gauge
¥ Connecting Wire, 12 Gauge
#8-22 Nut wlock Washer

10° Connecting Wire, 18 Gaugs
infinite Serich w/Pal Nut 208V
18, 4 Wirs Combo, 18 Gauge

9. 8, 4, 8 Wire Comdo, 18 Gauge
6. 4, 13 Wire Combo, 16 Gauge
& Connecting Wirs, 12 Gaugs
4" Fiberglass Sieseving
Stancard Buss Bar Assembly
U-Terminal Assembly

traulstor

3 Position Switch

Lid Yern Mole Plug

X Connecting Wire, 12 Gauge
Elements (208V)

#8 x 1/2° Shewt Metal Screw
#10-22 x A/8° Machins Screw
18" Connecting Wire, 12 Gauge
£6-32 x 1/2° Machine Screw
#10 Slar Washer

#6 St Washer

13" Connecting Wire, 18 Gauge
& Connecting Wire, 12 Gauge
#10-02 Hax Nt

#8-32 Hex Nut

ORDER PARTS FROM YOUR AUTHORIZED DUNCAN
CERAMICS DISTRIBUTOR.

(X 834



